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R A Y R 45 40 85 0.0/ 85.0
2 fr [/ B 41 46 87 0.0/ 87.0
3L |EW Ex 48 42 90 0.0/ 90.0
4 7 | @Y 1E 47 43 90 0.0 90.0
R A R 45 45 90 0,01 900
6 L | =F ik 46 45 91 0.0 91.0
7L | 49 43 92 0.0 92.0
8 f | =4 ¥ 45 47 92 0.0/ 92.0
9 fif | i B 50 43 93 0.0/ 93.0
10 A7 | BH %E 46 47 93 0.0/ 93.0
1147 | & 48 46 94 0.0 94.0
12 f7 | @A RIE 42 52 94 0.0 94.0
13 {7 |JRH —A1T 52 43 95 0.0 95.0
14 7 |&HH EZ 49 46 95 0.0/ 95.0
15 7 |BEH E 48 48 96 0.0/ 96.0
16 7 [#EfE EiR 49 48 97 0.0 97.0
17 A7 (/B B8 49 48 97 0.0 97.0
18 fir |1hp A& 51 47 98 0.0 98.0
19 {7 | 3 IR 50 48 98 0.0/ 98.0
20 7 |HR HF 49 49 98 0.0/ 98.0
21 {7 |MEE 55 44 99 0.0[ 99.0
22 fir [HER & 52 49 101 0.0/101.0
23 fif | =4k fdis 48 53 101 0.0/101.0
24 fif | =& Fig 53 51 104 0.0/104.0
25 fr | W 52 52 104 0.0/104.0
26 fif [KH F— 50 55 105 0.0[105.0
27 fr [EEH B L 53 53 106 0.0/106.0
28 i [[EAK #% 53 53 106 0.0/106.0
29 fr [k B2 50 56 106 0.0[106.0
30 07 | F& 51 57 108 0.0[108.0
31 [FRp% 22 50 58 108 0.0/108.0
32 i | =% B 53 56 109 0.0/109.0
33 N7 | 4R 59 51 110 0.0/110.0
34 47 [N K F 58 53 111 0.0/111.0
35 {7 | A #R 59 56 115 0.0/115.0
36 r [EE & — 57 62 119 0.0[119.0
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